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Les parenthèses 

 

Ton ami Gus te propose d’effectuer les calculs avec parenthèses 

suivants  

 

 (4 x 2) + 3 = ……………………………………… 

 (5 + 8) x 2 = ……………………………………… 

 (6 - 2) + 7 = ……………………………………… 

 (3 + 5) – 4 = ……………………………………… 

 10 x (3 + 2) = …………………………………… 

 (20 + 12) x 3 = ………………………………… 

 4 x (10 - 2) = …………………………………… 

 (6 x 7) – 12 = …………………………………… 
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CORRECTION 

 

Les parenthèses 

 

 

 (4 x 2) + 3 = 8 + 3 = 11 

 (5 + 8) x 2 = 13 x 2 = 26 

 (6 - 2) + 7 = 4 + 7 = 11 

 (3 + 5) – 4 = 8 – 4 = 4 

 10 x (3 + 2) = 10 x 5 = 50 

 (20 + 12) x 3 = 32 x 3 = 96 

 4 x (10 - 2) = 4 x 8 = 32 

 (6 x 7) – 12 = 42 – 12 = 30 

 


